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01 Al& B 75,468 75,468 0
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S Lo=XEW EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O Zofel & e3HEA FHEZMEAY
3,800,000& * 20004 = 99.3/100 75,468
03 Al 2 THHI 532 532 0
O Zofel & 3= FHEZMEAY
3,800,000 * 20004 = 0.7/100 532
LZANLBSAMNAEESY 11,520 11,520 0
< 4,608
s 6,912
307 glz2tol & 11,520 11,520 0
< 4,608
s 6,912
11T M SXALSE EX 11,520 11,520 0
O LZAE SAXR SESE
80,000& = 12H » 123 11,520
< 4,608
s 6,912
LOIXZAE 29T 574,174 564,224 9,950
= 401,922
< 51,675
[ia 120,577
307 gl2tol & 574,174 564,224 9,950
= 401,922
< 51,675
[ia 120,577
10 AL SXAIEEE2EHEX 574,174 564,224 9,950
O L2AE 2S XA 574,174,000& * 1002 574,174
= 401,922
< 51,675
s 120,577
Lol AL JdEHl, FEAHRAH XA 1,190 832 358
< 595
i 595
307 glz2tol & 1,190 832 358
< 595
i 595
11T MISRASEX 1,190 832 358
O LeldZAE d&EH, SHEAH XN
35,0003 * 349 « 13 1,190
< 595
e 595
SSAHESSAY 252,719 224,561 28,158
= 126,362
< 36,893
e 89,464
307 glz2+ol & 252,719 224,561 28,158
= 126,362
< 36,893
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HE: Lol 2 AW =2XBEA
ol o= BN (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 89,464
11T A EXAIEEX 252,719 224,561 28,158
O SHLO & ZSSHML S=2¢4E =AY
252,719,000 = 10 A 252,719
= 126,362
& 36,893
= 89,464
LOSEXAEI2=XNSE 16,100 0 16, 100
201 LBt | 6,000 0 6,000
03 A2 H| 6,000 0 6,000
O ZOEXNAEINZ SAX 2=
50,000 * 1 = 1209 6,000
301 et A = 5,100 0 5,100
01 Al E & A 462 1,500 0 1,500
O LoexAd /2
187,500& = 8 A * 13 1,500
09 SHAIAHI X & 2 3,600 0 3,600
O ZOEXNAEINZ SAL d2dsn=s
30,0008 = 1209 3,600
307 2Iz2to| A 5,000 0 5,000
02 QIZFAAAIE E X 2,000 0 2,000
O o)Al EXNSTAY &
2,000,000& = 1A 2,000
11T AISIEXAIEEX 3,000 0 3,000
O ZOoEXNAE NIEANELHS} T2 )H2H
333,333& * QA * 13 3,000
LOoMoEEa ) X& 5,100 5,780 A 680
= 1,530
= 3,570
307 2Iz2t0| & 5,100 5,780 A 680
= 1,530
= 3,570
11T A EXAIEEX 5,100 5,780 A 680
O Loy XX X&
196, 153% * 269¥H = 13| 5,100
= 1,530
= 3,570
HS=2H TWIHEOl AAEHE 36,576 32,004 4,572
o=t 9,144
= 27,432
307 212t0| & 36,576 32,004 4,572
=} 9,144
= 27,432
11 A EXAIEEX 36,576 32,004 4,572
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Chelr Lo =sXEsd (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
LostEES AL 2,515,920 839, 231 1,676,689
= 1,761,144
< 226,433
= 528,343
307 gl2tol & 2,515,920 839, 231 1,676,689
= 1,761,144
< 226,433
s 528,343
11T AISI S XA E = 2,515,920 839,231 1,676,689
O LelsEssMElA el
2,340,740,000& * 1JH 4 2,340,740
= 1,638,518
< 210,667
s 491,555
O LodsssSAHElA A I
175,180,000& * 1JH 2 175,180
= 122,626
< 15,766
i 36,788
MIOt=CIAlE 28 K& 1,845,042 615,936 1,229,106
< 369,009
s 1,476,033
301 EEMZ 1,845,042 615,936 1,229,106
< 369,009
= 1,476,033
01 A3l EE E 56l = 1,845,042 615,936 1,229,106
O MHs LAdFINQYEE & 243 N
7,508,927& * 234Y 1,757,089
< 351,418
s 1,405,671
O MIt-eAE(S22AXN) 224 X
87,953,000& * 1JH=A 87,953
< 17,591
s 70,362
EZ2 A= 24 K& 109,800 33,800 76,000
307 21201 A 109,800 33,800 76,000
11 AMISIAIEE X 109,800 33,800 76,000
O 80MIOI& SHLQl MAA XA ECID]
250,000& * 90 =« 13l 22,500
O EZ2A= HZ24 HASEE ALY
30,0003 = 650H = 13l 19,500
O E2 A= (28 et A D]
100& * 1,300 * 2600H 33,800
O E2ANeE 024 LG ALY
40,7403 * =12 » 459% « 128 22,000
O 0ls 2E2xd A€ 23|
50,000& * 20% = 12& 12,000
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=gl= x| A
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Lol ¥ HAE SIS
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Lol ESE MUl A (MEZLIAL 106,600 39,860 66,740
307 gl2tol & 106,600 39,860 66,740
11 ABI=Z XA R 106,600 30,000 76,600
O =0UE(SE,23)MHI2 SAX D=
100,000& * 138 * 13l 13,800
O Loxzs(=58,.82)MHlA BAL 38
10,000,000& * 14 10,000
O Loxs(s8,.82)M0A SAL Wt
50,0003 = 138€ = 12 82,800
=3 X=(8elX) 23,733,786 26,188,460 A2,454,674
= 23,088,921
< 644,865
301 LeHEBAF 23,733,786 26,188,460 A2,454,674
= 23,088,921
< 644,865
01 Ml28E 06z 23,733,786 26,188,460 AN2,454,674
O Jl=dad X3 23,733,786,000& * 14 23,733,786
= 23,088,921
< 644,865
ColARE AN (A OIX) 3,124,458 3,124,458 0
= 1,562,229
S 468,669
s 1,093,560
101 @144 Hl 2,204,264 2,204,264 0
= 1,102,132
< 330,640
s 771,492
04 JIZHHZ2XREES 2,204,264 2,204,264 0
O LoldXielAred ol
2,449,182% * 900 2,204,264
= 1,102,132
< 330,640
e 771,492
201 ¢4l 44,800 41,800 3,000
= 22,400
= 6,720
s 15,680
01 At 22l 41,800 41,800 0
O e8| 41,800
— Lol AtE ArR 2t
46,4443 + 900Y « 13 41,800
= 20,900
< 6,270
[ia 14,630
03 A2 S HI 3,000 0 3,000
O ol XtelAtey 2ial 3,000,0008 » 14 3,000
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HE: Lo Y AW =X
Chelr Lo =sXEsd (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,500
< 450
= 1,050
202 O4dl 25,080 25,080 0
= 12,540
< 3,762
s 8,778
01 = LH 4 1l 25,080 25,080 0
O LolgdXiiel Aty F=&
19,000& = 33 = 402 25,080
= 12,540
< 3,762
e 8,778
206 M= Hl 41,300 44,300 A 3,000
= 20,650
= 6,195
s 14,455
01 =4l 41,300 44,300 A 3,000
O LodRielmgd el
45,8883 * 900 13/ 41,300
= 20,650
< 6,195
s 14,455
307 glz2tol & 809,014 809,014 0
= 404,507
< 121,352
s 283,155
02 It M AHE X 809,014 809,014 0
O LogXielAtey =&
36,773,363& * 110HE * 204 809,014
= 404,507
< 121,352
e 283,155
ColyRel N3 = 151,500 124,500 27,000
101 @144 dl 148,500 121,500 27,000
04 JIZHHZ2XREE S 148,500 121,500 27,000
O LolgdXiel Aty F=&
270,000& = 50 » 1143 148,500
201 £B-2dH| 3,000 3,000 0
01 At 22l 3,000 3,000 0
O I=dl 3,000
— Logiiel E0A B 2 X)) HY S
0,000& 50 3,000
LolEdH2E 4,800 4,800 0
201 Let24E] 4,800 4,800 0
01 At 2t 2l 4,800 4,800 0
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Lol Y HAE =ZNEX
LosXNEsH o &)
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SA BB (SH) - NRAY - B %Ei 2t
O odx= 4,800
— Loady 400,0008 ~ 120 4,800
= tof A& 23,059 0 23,059
= 6,918
= 16, 141
301 et M= 23,059 0 23,059
o 6,918
= 16,141
01 Al E& A %62 23,059 0 23,059
O 29 &dXE 1,441,187& » 16Y 23,059
& 6,918
= 16,141
Q235 M 56,300 56,300 0
2 AY 56,300 56,300 0
201 B9 1,300 1,300 0
01 AP 22| H| 1,300 1,300 0
O gBtx=ZH| 700
— HANYERF=X 700,000& 700
O 2 & dl 600
— HANYERF=A 600,000& 600
202 044l 1,000 1,000 0
1 =2 W 1,000 1,000 0
O HANSHZ2RR 235 L LXK BIX 0t
100,000 = 28 * 5 1,000
301 et ™M= 54,000 54,000 0
01 M3 EXEE 2562 54,000 54,000 0
O st&&EH2 N 300,000& * 180+ 54,000
MEES(F2=EX4A) 780,810 745,205 35,605
WEAHAH XK= 780,810 745,205 35,605
JIEISIHAEE 2 780,810 745,205 35,605
701 JIEIS HENEZ2 780,810 745,205 35,605
1 JIEIS HEEZ 780,810 745,205 35,605
O = ESAIY EEIH dA&sz=2
780,810,000& 780,810
HEES(FO=X4A) 50,000 50,000 0
WEAHAH XK= 50,000 50,000 0
I=28&s3 50,000 50,000 0
702 12852 50,000 50,000 0
MosEE2 50,000 50,000 0
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SH - BAEA) - MRAY - BES Of &t o il
O ko=idls @ g9
50,000,000& = 13l 50,000
HY2IIH (FU=ERY) 59,000 59,000
JlEdul(Fasxd) 59,000 59,000
2B (=SXEH) 32,450 32,450
201 2Bt S| 23,900 23,900
01 At2 22l H 23,900 23,900
O get=&H| 19,500
- PA2g8 SHANY 19,500,000& 19,500
O s & dl 4,400
— PN2Y BN 4,400,000 4,400
202 o4 Hl 8,550 8,550
01 ZLHOHI 8,550 8,550
O BAE2E SHAY 8,550,000& 8,550
Jl2ZH (=2 =X) 6,450 6,450
201 2Bt2 S| 2,400 2,400
01 At2 22l H 2,400 2,400
O s & dl 2,400
- PA28 SHANY 2,400,000 2,400
202 o4 Hl 4,050 4,050
01 SLHO I 4,050 4,050
O BAEE SHAY 4,050,000& 4,050
2B (HAEINE) 6,200 6,200
201 2Bt2 ] 2,400 2,400
01 At 22l bl 2,400 2,400
O a2 & dl 2,400
- RA28 SN 2,400,000& 2,400
202 o4 Hl 3,800 3,800
01 SLHOHI 3,800 3,800
O BAE2E SHAHY 3,800,000& 3,800
2t (8 g=x) 7,500 7,500
201 LBt2 S 3,000 3,000
01 At 22l bl 3,000 3,000
O =3 & dl 3,000
- FARE SHAY 3,000,000& 3,000
202 Ol 4,500 4,500
01 S LHOHI 4,500 4,500
O BA2g8 S99 4,500,000 4,500
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